Non unit, fractions of a seb of objects and, lengthy

Trug or false?

3 guarters has been shaded

Do yow agree? Explain your reasoning and, remember to represent; your answer to- support your
hinki

Trug or folse?
2 thirds hame beerv shaded

Do yow agree? Explain your reasoning and, remembenr to represent; your answer to- support your
hinki
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Fractions c_ho_ll@%g/

Will ts thinking, of o number...
Wil tells us ...

%Df my number is 3 less than é of my

number.

%Df my number is 12

What is% of my number?




